5054 - O Level Physics
Recap of previous lesson
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Resistance is the ratio of potential difference and current.

f.d.)
Resistance =

—_ current

If one volt of p.d. produces a current of 1 ampere then resistance is 1 ohm.


If one volt of p.d. produces a current of 1 ampere then resistance is 1 ohm.
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Experiment to determine resistance
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Wire X has resistance R.
Wire Y is made from the same material and has same cross-sectional Area.
Wire Y has double the length of the wire X. W Q
What will be its resistance in terms of R. 0&0‘*‘41( @_
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Wire_z( has resistance_B_.
Wire Y is made from the same material and same length. \r.\\,n'g
Wire Y has three times the cross-sectional Area of the wire X. he)

What will be the resistance of wire Y in terms of R. NS \0& x hwj
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Wire X has resistance R.

Wire Y is made from the same material.

Wire Y has three times the cross-sectional Area of the wire X and half the length
of Wire X

What will be the resistance of wire Y in terms of R.
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\
Ohms Law \}(
For fixed resistor at constant temggrg;;rl, the current flowing througﬂis
directly proportional to the voltage applied across it. 2N
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Combination of resistors
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Short cut formula for finding
equivalent resistance of parallel combination
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